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MARKING GUIDELINES

MATHEMATICS

(PAPER 1)
QUESTION 1
1.1 [ 1.I.1 | xe{4;5} v’ answer
v’ answer )
1.1.2 | xe{0; 3} v answer
v'  answer (2)
113 | xe{l; 2} v
v 2)
1.2 [ 1.2.1 | 3x* —4x=0
X(3X _ 4) =0 factors
X = O...or...x :i
3
NOTE: Any other valid method. 3)
122 | 3x— 14 =—-6x>
L 6x>+3x-14=0
_ + 2 _ _
x= (9 £76)” ~4OX v’ substitution
Sox=129 or x v'v answers 4)
v’ standard form
v’ factors
v'v answers
“4)
v’ squaring both sides
2-x=x"—4x+4
0=x>-3x+2 v' standard form
0=(x-2)(x-1) v’ factors
SLx=2..0r..x=1(NA) v' answers with rejection 4)
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125 x-6=0
x=6 v' value of x
Tx=2y+3
6=2y+3 v substitution
2y=3
=2 v value of
-y 5 value of y 3)
1.3 |y—1=2x
y=2x+1...... (1)
XHxy-3x—-y+2=0......... ()
X2 Fx2x+1D)-3x-2x+1)+2=0
A2 +x-3x-2x-1+2=0
L3P —4x+1=0 ard form
BGx—Dx-1)=0
(©)
v’ substitute into A
v A=5p°+8
v p*>0,5p>>0 and
5p°+8>0
. roots are real and unequal. (3)
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1.5

The 100 m fencing will make up three sides because
the existing wall will make one side.

Wall

fencing =2x +y =100
Soy=-2x+100
wA=xy
A =x(—2x + 100)
A=-2x*+100x
A=-2(x*-50x)
oo A=-2(x*—50x — 625 — 625)
A=-2(x—25)*-625)

Maximum area: x =25 value of x
A =-2(25) +100(25
 4=1250 value of 4
+1250=25y
Sy =50 v’ value of y (7)
[39]
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QUESTION 2
2.1 | 2.1.1 | 32 gntl
277!71
n+2 ~42n+2
3 3 \/ 32n+2 and 33n—3
3371*3
33n+4
33"*3
33n+4—3n+3 v 33n+4—3n
37 answer (3)
212 x°
1+x
2
= M substitu
1+1+ \/5
1+ 243 +3
2+ «/5
44243
2+ \/5
_2(2+4/3) factorisation
answer “4)
factorisation
2 b)? x(a+b) o
= T v’ simplification
(a—b)
(a+b) x(a+b) v simplification
(a+b)’
3 2 2, 13
a’ +3a°b+3ab” +b v answer (4)
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MARKING GUIDELINES (PAPER 1)

2

8
22 RTP: -—===-2
1442 48
> 8
1+42 48
__2 8 v 22
1442 242
_2(22)-8(1++2) v
242(1+4/2)
_42-8-8\2
242 +24/4
_42-8-8\2
272 +4
_—442-8
202 +4
- 42 +2
202 +2
=2 )
2.3 I
L M
v MK=2
substitution
simplification
v M
A= %(4)\/ 44343 v' substitution into area formula
A =63 units’ v’ answer (6)
[21]
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QUESTION 3
30 | T, -T, =T, - T,
4x+5-x=10x-5—-(4x+5) v method
3x+5=10x-5-4x-5
3x+5=6x-10
s 3x=15
L x=5 Q)
32 (321 | -3n+20=-106
3n=126
son=42 2)
322 | -3n+20<0
20<3n
20
L—<n
3
son="7 (2
3.2.3 | Odd valued terms:
17; 11; 5; ... v' sequence
General term: 7, v T
T, = —6(20)
T, =— v’ answer (3)
) v' 1% differences
difference
v’ equating 2"? difference in
terms of a, then b.
v value of a
and
21-b-b6+10=1
-2b+31=1
—-2b=-30
~b=15 v' value of b 4)
[13]
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C(-1;0)\

-

4.1

B(5; 0)

NOTE: Must be in coordinate form.

4.2

y=a(x—x)(x—x,)
L T1=a(6—(-1))

@)

v" substitute roots and

point D(6;7)

v' value for a

v y=x"-5x+x-5

(€)

SLy=—x-1

pt(-1;0)

v’ answer

3)
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44 | -1<x<0 v’ all critical values
(independent)
x>5 v’ answers
OR
x€[-1;0] or [5; ] v’ all critical values
NOTE: Deduct 1 mark if brackets are incorrect in the (independent)
alternative solution. answe 2)
[10]
QUESTION 5
5 . 1 AL .l.-r
{2
=2 ol
-1
g
' T
NOTE: d lists
e graph, award
3)
\/ m = —1
v’ subs. point (2;-1)
v’ answer (3)
v answer (1)
5 units right v’ answer
NOTE: Accept an answer of 5 units. (1)
5.4.2 | 3 units up v’ answer

NOTE: Accept an answer of 3 units.

(D

9]
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QUESTION 6
6.1 |6.1.1 | y=-6 v’ answer (1)
6.12 | h(x)=32"-6
0=32"-6 v equate to 0
6=3.2"
2=2"
x=1 (2)
6.1.3 | n(x)=3.2"-6
y=32°-6
o3 (1)
6.14 | x >1 answer (1)
6.2 hs Y V
v x-intercept
xa.
v asymptote
7 - v shape
3)
[8]
TOTAL: | 100

10




